000 "54cC”

electro drive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru
X LF AD
] ; o
120 | |
a0 18 he
15 __@ E J
T T i _
SRS o U NS i —s i
. =) '], | mzoxaz
N -i-F i o B0 e
25 J. 165 | g OUTPUT
222
LF
o —
120 17
L.sﬂ.l
f]
Sj:_ — T T 2';_ ) &
I @l ™
: 8
l
sl
M._FD
MER M..FD M..FA
Sl 0|0 | A | H |H | L |AD| g |LF|@|R|AD| R |AD
C7023 [S2 |M2S | 166 | 288 | 286 |636.5] 118 | 88 |707.5| 92 | 129 | 146 | 134 | 119
C7023 [S3 |M3S | 195 |3075 |3055|6805| 142 | 93 |[7765| 101 | 160 | 158 | 160 | 142
C7023 [S3 |[M3L | 195 |307.5|305.5|7125| 142 | 101 |803.5| 108 | 160 | 158 | 160 | 142
C7023 [S4 |Ma | 268 | 339 | 337 [820.5] 193 | 135 [929.6| 153 | 226 | 210 | 217 | 193
C7023 [S4 |[M4LC | 258 | 339 | 337 |B8565] 193 | 143 |9546| 161 | 226 | 210 | 217 | 193
C7023 |S5 |[M5S | 310 | 365 | 363 | 907 | 245 | 163 | 1047 | 193 | 266 | 245 | 247 | 245
C70253 [S5 |M5L_ | 310 | 365 | 363 | 951 | 245 | 179 | 1081 | 209 | 266 | 245 | 247 | 245
c704 [s1_|mi 138 | 279 | 277 |6595] 108 | 88 |7205] 91 | 103 | 135 | 124 | 108
C704 |s2 |M2S | 156 | 288 | 286 |687.5| 119 | 92 |7585| 96 | 129 | 146 | 134 | 119
C704 |S3 |M3S | 195 |307.5|3055|7315| 142 | 97 |8275| 104 | 160 | 158 | 160 | 142
C704 [S3 [M3L | 195 |307.5|3065]7635] 142 | 104 [8546| 111 | 160 | 158 | 160 | 142
C704 |s4 |M4 | 258 | 339 | 337 |8715| 193 | 138 | 980.5| 156 | 226 | 210 | 217 | 193
C704 sS4 |M4LC | 258 | 339 | 337 |9065| 193 | 146 10055 164 | 226 | 210 | 217 | 193




eds 000 “3/1C"

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

"

15 a0 18 hg

349

ME0xA2

B mE

OuUTPUT

i

INPUT

| Mo M1 | M2 N N1 | N2 | N3 N4 X P | @
C702/3 P80 19 [ 218 | 6 | 200 | 165 | 130 | — |M10x12| 4 | 473 | 88
C702/3 | P90 24 | 273 | 8 | 200 | 165 | 130 | — |[M10x12| 4 | 473 | 88
C702/3 [ P100 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 | 483 | 92
C702/3 [ P112 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16]| 45 | 483 | 92
C 702/3 | P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 |5195| 95
C 70 2/3 | P160 42 | 453 | 12 | 350 | 300 | 250 | 23 18 6 | 575 | 107
C 70 2/3 | P180 48 | 518 | 14 | 350 | 300 | 260 | 23 18 6 | 575 | 107
C702 | P200 55 | 593 | 16 | 400 | 350 | 300 | — |M16x25| 7 | 600 | 129
C704 |P63 11| 128 | 4 140 | 116 | 95 | — | M8x19 | 4 | 5045 | of
c704 P71 14 | 163 | 5 160 | 130 | 110 | — | M8x16 | 45 | 5045 | of
C704 |P80 19 [ 218 | 6 | 200 | 165 | 130 | — |[Miox12| 4 | 524 | @2
C704 P90 24 | 273 | 8 | 200 | 165 | 130 | — |M10x12| 4 | 524 | o2
C704 |P100 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 | 534 | 96
c704 P12 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 | 534 | 96
C704 |P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 | 5705 98




eds 000 “3/1C"

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

. A . 62
I = - |
15 [ 90 i _.._I_M
] I -3 3
= | | meoxaz
'“ 60 1§
2 | .2z 9 OUTPUT
a00
350
M
B = -
17 Fal F3
LTE.'[ l@._ ‘ _F2ns
SE= M = — T4
£ L 4] =7 -
3 [ P e ™ v
4 250 ¥ ‘ INPUT
262
A00

—

] B A B E F F1 F2 F3 F4 v o)
C702 657.5 | 4275 | 110 42 45 12 10 90 |M12x28 | 108
C703 |HS 6575 | 4275 | 110 42 45 12 10 90 |M12x28 | 108
c704 593.5 | 4235 | 50 24 27 8 2.5 45 | M8x19 | 94




